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L7 3| mfipmd B TRBPEES 5 (RNAVirus)?
(A) g & 1het v i g 1 55k T % (SARS-CoV)
(B)¢ kr#spiz# s kp4 (MERS-CoV)
(C) 2019 #73] %k g+ (2019-nCoV)
(D)ra + % &
Ans: ( )
2.7 5| P AL R BT S PORPER (RNA) & = e 32
(A)= = & 2Lz (Southern blotting)
(B)#* * & gLz (Northern blotting)
(C)a = % g2 (Western blotting)
(D)f:% #.# A~ 5% (Enzyme-linked immunosorbent assay » ELISA)
Ans: ( )
3EPimie 2t 3-v FA R H 300 hRNAR 7| ¥ R 54 (Transcription) 218 » % A&
# (Translation)= % % »+*<4f (Polypeptide)s » # 2 & 2 3 hRNAR 7| # BB F it 5 7 7|
X0
(A)*t &2+ (Exons)
(B)» z &+ (Introns)
(C)#E 424 ¥ %1+ (Transcription factors)
(D)# ==+ (Transposons)

Ans: ( )

4.F @ &% (Reverse transcriptase) it 33 #-RNA§ T4 (Template) » ;ﬁ‘ﬁ e £ 3 DNA
4F - L BERNABHE 2 B 51 & “AUUGACGGU” » Pl F #&prit R & + 2 DNAA 7] 5 T 7|
fm X2
(A) TUUCTGCCU
(B) TAACTGCCA
(C) ATTCAGCCT
(D) UAACUGCCA

Ans: ( )

5.22 8¢ & Sl (Addiction) & 4 4p B eh Trgdcpg ¥ k5t (Brain Reward Pathways) » &
g7 5 e A 2 @R F (Neurotransmitter) .5 B 5% ?

(A)z FE"%4& (Acetylcholine)
(B) & &+ ’LTC‘% (Norepinephrine)
(C) % = #= (Dopamine)

(D) 5% (Serotonin)

F1H



Ans: ( )

6. X iﬂ“r“ﬁ th PR g s &y (Fight-or-flight response) * Mg H A& RF K Ha & Fd
p AR (Autonomlc nerves) ¥ g8— Mi> %k g § ?
(A)¥ Jf‘mé & & % (Central nervous system)
(B) % £ 4 %5 % % (Peripheral nervous system)
(C)% g #¢ & (Sympathetic nerves)
(D)&l = g #¢ 5 (Parasympathetic nerves)

Ans: ( )

T.hdpRentiris FAAL Y o F B3 i £ ¢he fRrik (Acetylcholine) it &8¢ % Eehd ks F 3
#H*%EF & (Vasodilation)» e ¥ 3 'ﬁél £ M A W% (Endothelium) d "% & § Bl R B
IR RF)G ARG TR P R 3 4e EXAPRATRK o
(A)p 4 imre > — & it 52 CO
(B)p} A imP2 > — 5 i 5 NO
(C) i #emmz » — § 1§ NO
(D)p & fmPe > & F 1+ ’LTC‘% (Norepinephrine)

Ans: ( )

8.7 7| f® ¥ B3 it 3o F = s R4 (Secondary structure) ¢hi Fady i ?

(A)HE — % 72rk4a (Polypeptlde chain)=h= & z & 384 (3D folding)
(B)*=#L p& s/ 7] (Amino acid sequences)

(C)ix % i % 247548 e 7 12 % (Consisting of more than one)
(D) a-¥%*%_ (Helix) ~ -5 4 (Sheet) g4 ¥% (Random coil)

Ans: ( )

9.7 517 M&w (Vaccine) iy it - P ¥ 48 32
(A)Fe e m B LA+ h Nf 5 2 & L& (Active immunity)

(B)E w i ¥ ;ﬁrj 3 L2 LB F & (Innate immunity) @ 4 %ﬁzé (B gk 4
(C)# w it :MEZIF’** Bk A AT AR R RGP AR & szt (Memory)
(D) 7wt 25 (WHO) e 1980 # & # » Fe w24 @ B chig 4 ]]% = % 1= (Smallpox)

Ans: ( )

I0EFEF R * e s RATHAZOEL T €5 BBRE VG T L ARFHE
&2 @t e % (Drug tolerance) o 3K i%ﬁi%%@’#é;i R ALOPRE 0 T P T P R
U EA? (P RIKBRR T REFERETF cRILP R na## 218 ehiE* %)
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sl ) (5T 0 E A
S MEA (FAL204, K 248 40 4)
LM E pme 2 Timse ik 5 (Cellcycle) ¥ 45 RixfpdIA 2 ) 5§ ity itk

25 x4 4 4 4 e TREHETR & 36 (Systemic circulation) & fRR 41 H ETR S % o
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